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Math 2E Quiz 8 Morning - May 19th

Please write your name and ID on the front.

Show all of your work, and algphfv all yvour answers. *There is a question on the back side.
rd
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Let F(z,y) = <ysinz, £ — cosz >. Let the curve C be the circle (z — a)? + (y — b)?2 = R?
gomng clockwise. (Here, a.b, R are any rcal numbers). Compute ¢ F - dr.
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Wee o V- g“‘l‘i; Q = X(osYyH CosZ, K= - ﬂg{w{{-_

2. Recall: On the homework. we showed that if F = < P.Q. R > is conservative and P, Q, R have
continuous partial derivatives, then
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a) Verify that F(z,y,z) = <siny, zcosy + cosz, —ysinz > satisfies the above equalities.
(Equivalently, you can show that curl(F) = V x F = (0, 0. 0).)
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b) Since the components of F in part (a) are smooth tunctions, this means F' is conservative. f
Let the curve €' be given by C(t) = (sint¢, ¢, 2t) from 0 < 1 < 7/2.
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Compute [ F-dr where F(z,y,2) = < siny, xcosy+cosz, —ysinz > from part (a).
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